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oi @, o- ©-
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x =342 4o, x> —6x—10 2] G FSHA Q.

x =342 oA x—3 =2i o] FHS A F5IH
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3. HAA R 4y2-2x+4y+1=00°] JElY = £ o] A0 HEE
C(a,b), T2 5] ZolEret @ a+ b+ r & 27

®-2 @-1 @0 @n ® 2

B \

X2 4+y?-2x+4y+1=0
(x-12+(y+2?=-1+1+4
(x=12+(+2)2=220]E2
SO, =2), r=2 ca+b+r=1




T O ¥+ ax + b, x* 4 3bx + 2a 2] FHFFFTF x - 14 T,
a+ b9 gk Fshd?
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Tt x - 10|22

X’ +ax+ b2 x® +3bx + 2a=
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S 1l4+a+b=0°3114+3b+2a=0

oetA g =-2 b=1
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Q, OF ©°l Zr7ZF i YdstH,
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fx) = (x+1)(x+2)(x-3), f3) =0
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AwS A% pol ghe] WS Fohw?
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@ p>5p<1 @—Z<p<1 ® -5<p<3
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(i) olxpgAAle] & Z& 7IX B2 D > 0914
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